	1

00:00:06,320 --> 00:00:09,720

HNV（希伯来词汇数值）与Log-Mass（天体质量自然对数值）相匹配成直线。
2

00:00:10,060 --> 00:00:11,680

希伯来词汇还是同样的，

3

00:00:11,920 --> 00:00:14,280

4

00:00:14,980 --> 00:00:18,220

纵坐标Y上是天体的质量
5

00:00:18,620 --> 00:00:24,240

正如你所看到的

HNV（希伯来词汇数值）与Log-Mass（天体质量自然对数值）相匹配成直线。
6

00:00:24,720 --> 00:00:25,740

再一次的
7

00:00:25,820 --> 00:00:29,920

其线性相关吻合度非常高
8

00:00:30,480 --> 00:00:31,760

高到什么程度呢？
9

00:00:32,120 --> 00:00:35,400

0.985的相关系数
10

00:00:35,520 --> 00:00:38,600

也就是98.5%的相关。
11

00:00:40,700 --> 00:01:09,660

while producing this very movie a new finding was discovered 
quote professor high ensureone of many exchanges communication with the producers this movie while working on the English version Mr Orr is informed me that the linear relationship between Hebrew and long diameters of moonsome extends to the English words namely moon birth正当制作这一影片期间，探索又有了新的发现！
引述肖海鹰（HAIM SHORE）教授：
在与影片制作人的多次交流中，

在制作英文版的时候，

欧文先生告诉我

希伯来词汇数值与天体直径自然对数值的线性关系，

可以延伸到它们的英文词汇，

就是月亮地球太阳的英文词汇。
12

00:01:10,340 --> 00:01:10,860

gone

13

00:01:11,740 --> 00:01:16,440

使用16世纪AGRIPPA输入键作为英文字母数值，
14

00:01:16,540 --> 00:01:21,160

欧文发现这些词汇的英文数值分别为170，
15

00:01:21,340 --> 00:01:25,020

194，330
16

00:01:25,080 --> 00:01:28,040

（对应的希伯来数值分别是218，
17

00:01:28,280 --> 00:01:30,760

291，640）
18

00:01:31,400 --> 00:01:33,640

发现这些英文词汇数值
19

00:01:33,880 --> 00:01:38,460

与月亮地球太阳直径的自然对数值也是高度相关。
20

00:01:38,540 --> 00:01:39,140

21

00:01:39,220 --> 00:01:40,140

22

00:01:40,940 --> 00:01:44,080

这一消息使我大吃一惊！

23

00:01:44,340 --> 00:01:49,000

它使我马上意识到
24

00:01:49,040 --> 00:01:51,920

这两种语言的三词汇之间的数值
25

00:01:52,080 --> 00:01:55,060

也必定存在高度的线性相关。
26

00:01:55,340 --> 00:01:56,080

的确，
27

00:01:56,440 --> 00:01:57,920

统计学分析显示
28

00:01:58,040 --> 00:02:00,160

它们之间有
29

00:02:00,360 --> 00:02:04,920

0.999的线性相关，
30

00:02:05,000 --> 00:02:06,340

这也可以从接下来的图表中看出
31

00:02:06,640 --> 00:02:13,080

（横坐标依然是希伯来词汇数值，而纵坐标的数值是英文的）。
32

00:02:13,700 --> 00:02:15,520

来自月亮地球太阳的希伯来词汇数值
33

00:02:15,660 --> 00:02:23,920

与英文词汇数值对比。
正如你所看到的，新的线性关系出现了。
34

00:02:24,560 --> 00:02:54,420

new finding by Ron opens up space for a whole new branch of investigative science yet to be explored it has far reaching implications for the validity of the much research hypothesisancient biblical Hebrew i've been source to all current languages and for how the language is actually poorhighly reminiscent of the ancient story of the tower of power Genesis eleven
欧文的新发现开启了科学研究的新领域，
然而，这还有待于探索。

而且，这也对该理论的进一步研究产生深远的影响，
古代的圣经希伯来语是各种现代语言的源头吗？这些现代语言实际上是如何产生的？

这也很容易使人联想到远古时代巴别塔的故事（创11：1-9）。
35

00:02:54,480 --> 00:02:55,800

once you're mine

36

00:02:56,240 --> 00:02:57,520

如果希伯来词汇数值
37

00:02:57,600 --> 00:02:59,800

与英文的词汇数值之间的关系
38

00:03:00,060 --> 00:03:00,820

得到证实，
39

00:03:00,860 --> 00:03:02,360

如果它们不仅仅是个例的话，
40

00:03:02,940 --> 00:03:05,500

那么就有待于科学家们
41

00:03:05,820 --> 00:03:06,720

做更多更深入的研究。
42

00:03:07,280 --> 00:03:08,740

结束引用！
43

00:03:09,040 --> 00:03:11,960

现在让我们提出一个更大的问题。
44

00:03:12,080 --> 00:03:15,220

在HNV与现代科学发现的各项数据之间，
45

00:03:15,280 --> 00:03:20,200

是否有更多的匹配吻合？
答案是肯定的！
46

00:03:20,560 --> 00:03:36,180

肖海鹰（HAIM SHORE）教授检验了摩西五经中众多的词组，相同的结果一再地反复出现！
47

00:03:36,280 --> 00:03:40,180

现在我们已经知道，月亮地球太阳的HNV揭示了这些天体的精确的大小和质量。
48

00:03:40,660 --> 00:03:44,040

但是，同样的希伯来词汇YAREACH
49

00:03:44,180 --> 00:03:45,640

（月亮）
50

00:03:45,720 --> 00:03:47,980

在希伯来语中有另外的意思
51

00:03:48,300 --> 00:03:49,580

（只是发音有差别）。
52

00:03:50,620 --> 00:03:51,340

词语YERACH
53

00:03:51,640 --> 00:03:53,560
也有月的意思。
55

00:03:54,420 --> 00:03:56,860

例如，九个妊娠月就说成
56

00:03:56,940 --> 00:03:58,300

九个YERCHEI  LEIDAH，
57

00:03:59,160 --> 00:04:01,300

犹太月是农历月，
58

00:04:01,500 --> 00:04:05,300

是基于月球绕行地球一周的时间。
59

00:04:05,780 --> 00:04:08,260

这也是希伯来词时间月
60

00:04:08,320 --> 00:04:10,980

被写成月球的月的原因，
61

00:04:11,240 --> 00:04:13,560

只是它们的发音有差别。
62

00:04:15,660 --> 00:04:17,560

会不会YERACH这一词汇
63

00:04:17,720 --> 00:04:22,640
在代表月球的体积和质量的同时，
66

00:04:22,700 --> 00:04:28,860

也能代表犹太月的时间长短？
68

00:04:30,140 --> 00:04:35,220

如果真是那样，
那就会出现奇妙的两组三词汇相关数据。
69

00:04:35,560 --> 00:04:37,940

让我们查验YERACH（月球）
70

00:04:38,120 --> 00:04:41,360

和其他两个表示时间周期的希伯来词汇：
71

00:04:41,920 --> 00:04:45,400
YOM（天）和SHANAH（年）。
74

00:04:45,840 --> 00:04:50,160

这样我们可以检验，这三个希伯来词汇
75

00:04:50,320 --> 00:04:51,640

是否传达了，
76

00:04:51,740 --> 00:04:54,340

与它们名称相关的时间周期信息。
77

00:04:54,820 --> 00:04:56,160

为了便于研究，
78

00:04:56,380 --> 00:05:00,340

肖海鹰（HAIM SHORE）教授启用了一种科学上常用于
79

00:05:00,440 --> 00:05:24,760

measuring cyclic phenomenon called Hertz h z h z equals one cycle per centchoice of a difference units would not change the results of these statistical analysishow time cycles day month year are calculated suppose that instead of hurts we have chosen year as our cycle unit
测量周期现象单位赫兹（HZ）。
一赫兹等于每秒一周期。
（不同单位的选择不会改变统计分析的结果）
为了演示年月日的时间周期如何计算，假设我们选择“年”作为周期单位来替代HZ，那计算就会是这样的：
80

00:05:25,200 --> 00:05:33,300

天的周期率为：29.53059乘以12
81

00:05:33,400 --> 00:05:40,940

等于354.37/年
月的周期率为：12/年

82

00:05:41,080 --> 00:05:51,640

年的周期率为：1/年
这些词汇的HNV分别是多少呢？
83

00:05:51,760 --> 00:05:57,440
天YOM的数值为40+6+10总数56，
86

00:05:58,580 --> 00:06:13,160
月YERACH的数值为8+200+10总数218，
94

00:06:13,520 --> 00:07:06,860

年SHANAH的数值为5+50+300总数为355。
让我们再回到科学的频率单位HZ，
每秒一周期，
来计算天月年的频率。
天的频率为1.1574E-05（自然对数值为-11.3667）
月的频率为3.9194E-07（自然对数值为-14.7521）
年的频率为3.2661E-08（自然对数值为-27.2371）
95

00:07:11,000 --> 00:07:15,100

这是一张总结表！

	each envy correlation with log mask a g 
the Hebrew words are the same 
Eretz / Yareach / Shemeshc
and this time the mask is on the vertical y axis
 and as you can see 
the h and v is aligned with the mass of the celestial objects 

once again
 the linear codeor the match is very high
how high you ask 
zero point nine eight five correlation 
 that's ninety eight point five percent
while producing this very movie a new finding was discovered 
quote professor I am sure
one of many exchanges communication with the producers this movie
 while working  English version 
Mr is informed me that 
the linear relationship between Hebrew Jim atria and long diameters of moon earth sun 
extends to the English words 
namely moon birthson
using sixteenth century a group of keyboard English alphabet I'm atria 
or his found the English to make up for these words to beseventy one ninety four and three thirty respectively
vs the Hebrew jum atria of two eighteen ninety one and sixth forty respectively
however the English Dimitri of values were found to be highly correlated with the log diameters of moon earth and sun
I was both stunned and excited with the news
 it immediately dawned on me that this fineimplies that，
 the tree is for the two trios of Hebrew and English words must be highly linearly correlated
statistical analysis produced a linear correlation of zero point nine nine nine as may be learned from the following plot values of Hebrew words are read on the horizontal axisEnglish on the vertical axis
  envy vs English numeric value from moon sun
as you can see a linear match scored
 the new finding by Ron opens up space for a whole new branch of investigative science
 yet to be explored
it has far reaching implications for the validity of the much research hypothesis
that ancienti've been source to all languages and for how the language is actually poor
also highly reminiscent of the ancient story of the tower of power Genesis eleven vs wandered nine
 if this relationship between Hebrew and English indeed foods not to be singularthen much research is awaiting scientists to be carried out
and the coach
now let us have a big question 
are there further matches between a Chevy and recently discovered scientific data 
the answer is yes
better hai am sure as examined numerous word groups in the Torah and the same phenomenon repeats itself over and over again 
as we now know numerical values of Hebrew words

  or moon earth sun convey the exact size and mass of these celestial objects 
but the same Hebrew word you're a moon has another meaning in Hebrewpronounced differently 
yeah yeah also means month
for example nine hail Ada nine pregnancy months
Jewish month is aVermont namely based on the time it takes for the moon to circle earth
 this is also why Hebrew for month is written like the Hebrew for moon though the two words are pronounced differently
could it be that your ass stands for the size and mass of the moon and at the same time having seen letters as your ass represents the time cycle of the juicemoonbase month
if it does 
it would be an amazing triple fold correlation
 let us examine month together with you other Hebrew words for time periods I'm jay and
this will amount was to examine whether this trio of Hebrew words deliver information about the time cycles associated with them
  to carry out the study professor hi I'm sure had used a common scientific unit for measuring cyclic phenomenon called her a cheesy
one h z equals one cycle per cent
choice of a difference units would not change the results of these statistical analysis
how time cycles day month year are calculated suppose that insteadhurts we have chosen year as our site will unit then the calculation would look like this 
for day twenty nine point five three zero five nine times twelve equals three hundred fifty four point three seven cycles per year
month twelve cycles per year 
for one year one cycle per year
what is the numeric value of the work
day young you'resixth man equals fifty six total
month you're as the same letters and numeric value as your judge eagles tenyoutwo hundred eighteen
yeah she
  shit equals three hundred fiftythree hundred fifty five
let us review the phone to pick frequency in Hertz 
cycles per second 
birthday month and year
frequency equals one point one five seven four minus zero with natural long value of minuseleven point three six six seven 
months pussy equals three nine one nine four t minus zero seven with natural law of value of maya's fourteen point seven five two one
equals three points two six six one e minus zero weight with natural log value of minus seventeen points two three seven one
here is a summary table



